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72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

OUNBHSTHMSS CoHeSDBS (HBUNSHsTaT eipdl mrevsen) | 84.
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C) eflgeuns efleaab d) yssrs SHEGeusD
e) eflenL egwesileoemeo
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SNBSS ?
a) yeo b) emeo c) 2.y
d) wWens e) eflewL agfwefisbeneo 85.
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) 92.
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QLN SIS
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C. isieon 3. Sumanb
D. Swmeuetmremrmioeneo 4. P&l HBEHID
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a) 3 4 1 2 b) 2 4 1 3
c) 3 1 4 2 d 4 1 2 3

e) eflenL egMwesilsoemeo

[BLDEBT606M6D 6T6ITERID E\FTedemevLl LNfEGE! 6 Se BemLLiLig)
a) b + Gevewed b) s + Gevemeo
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e) eflenL egMweileoemeo
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e) eflenL egMwesilsoemeo
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94.

95.

96.
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97.

98.

99.

100.
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e) ellenL agMwesileoemeo

General English (100)

Read the sentences carefully and fillin the blanks with
suitable tense from of the verbs given in
brackets:

The doorbell rang, while | (do) my homework.
a) Hadone b) Wasdoing c) Doing
d) Amdoing e) Answer not known

Fill in the blank with the tense with the help of the
words given in the brackets:

Usha looked back at the ruins. The sun (come)
up and was touching the top of the walls.
a) Come b) Came c) Iscoming

d) Had come e) Answer not known

In the poem “The House on Elm street”.
What is the temptation of the poetess?

a) Toenterthe house and she what it is

b) Torun around the house

c) Toknow about the house

d) Tofind a true story

e) Answer not known

Which line indicaties the size of the house?

a) What happened there is still today unknown
b) And inside you can tell it has a ton of space
c) Lightsflicker on and off

d) The house seems to be a bit brightes

e) Answer not known

The cat and the Painkiller is extracted from:
a) The Adventures of Huckleberry Inn

b) The Adventures of Tom Sawyer

c) The Adventures of Huckleberry FInn

d) None ofthese

e) Answer not known

6.

10.

11.

Read the sentences carefully and fill in the blanks
with suitable tense from of the verbs given in
brackets:

The television was on but nobody (watch) it.

a) Were watching b) Was watching c)Watching
d) Watched e) Answer not known

Why doesn’t the poetess go inside the house?
a) Thedoor ofthe house is locked

b) Sheis frightened

c) Thereis no power inside the house

d) She had fever

e) Answer not known

Who was loved Tom very much?

a) AuntPolly b) Sid c) Becky Thatcher
d) Joe harper e) Answer not known

Tom put his hoop away,

a) And his belt b) And his scarf

c) And hisshoes d) And his bat

e) Answer not known

In the poem “The House on EIm street”.

What is meant by “bare to the bone”?

a) It means, there isn’t anything in the house
b) It means, lot of stories built to by the people
c) It means, the house was empty

d) It means, the structure of the house

e) Answer not known

Find out the figure of speech:

The wastern wave was all aflame.

a) Alliteration b) Synecdoche c) Connotation

d) Simile

e) Answer not known
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Fill in the blanks using the verbs in the brackets in the
form:

The peon _____ the bell by the time | reach the
school. (ring)

a) Ring b) Willring c) Rang

d) Ringing e) Answer not known

“I drive past the house almost every day

The house seems to be a bit brighter”

Pick out the alliterated words.

a) House-seems b) Be- bit

c) Bit - brighter d) Be - brighter

e) Answer not known

Who is known by his pen name “Mark Twain”?

a) Samuel langhorne clemens

b) Joseph bell c) Arthurconan Doyle
d) Rudyard kipling e) Answer not known
What did give to Tom for breakfast?

A) Water B) Oatmeal

C) French fries D) Bread and butter
a) land IV b) landll c) landlll
d) Iland IV e) Answer not known

How does the house appearin may?

a) Bit - brighter b) Warm c) Bright

d) Bit warm e) Answer not known

“I done it out of pity for him” who said this lines?
a) Tom b) Polly c) Peter
d) Sid e) Answer not known

Tom put his hoop away, |
a) And his belt b) And his scarf
c) And hisshoes d) And his bat
e) Answer not known
Aunt was an experimenterin
a) Trying new recipes.
b) Designing fashionable frocks.
c) Modern gardening techniques.
d) Trying out new medicines.
e) Answer not known
Fill in the blanks:
is always act when they’re having good time.
a) Cat b) People c)
d) Aunt e) Answer not known
In the poem “The House on EIm street”.
How is the day in summer?
a) Warm b) Dark c)
d) Drowzy e) Answer not known

Fill in the blanks using the verbs in the brackets in the
form:

Tom

Sunny

I my sister’s house next April if | go to

uttarkhand.(visit)
a) Visited
d) Visits

b) Visiting c) Willvisit
e) Answer not known

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Read the sentences carefully and fill in the blanks
with suitable tense from of the verbs given in
brackets:

Baskaran hurt his hand while he __ (cut)
mangoes.
a) Were cut b) Has cut c) Hadcut

d) Was cutting e)Answer not known
Where was Tom sawyer being grow up?
a) Mississippiriver at st. Petersburg

b) Nile river at south africa

c) North river

d) Great river

e) Answer not known

What sits there without getting small nor growing
tall?

a) Tree

d) Fruit

One day Tom was
a) Dreaming of Becky

c) Begging for a painkiller
e) Answer not known

Identify the character or speaker of the following
lines:

b) Vegetable c) Plant
e) Answer not known

b) Dosing the crack
d) Caressing Peter

She stood petrified with astonishment peering over
the glasses.

a) AuntPolly Arts

c) Deckyillness

e) Answer not known
What kind of baths she added?

a) Hot baths b) Sitz baths c) Shower baths
d) Allthe above e)Answer not known

b) Tom’s misthievous
d) Joe great

They all the arrangements before the guest’s
arrival.
a) Willhave made b) Willbe made

c) Had been making d)
e) Answer not known
Lights flicker on and off.
What is meant by flicker?
a) Flash/Glimmer b) Bright c) Fuse
d) Not clear e) Answer not known

Read the sentences carefully and fill in the blanks
with suitable tense from of the verbs given in
brackets:

Were making

Mary fell asleep while she (read) a book.
a) Read b) Were reading

c) Was reading d) Will beveading
e)Answer not known

Fill in the blanks using the verbs in the brackets in the
form:

She hopesyou __ her. (help)
a) Willhelp b) Help c) Helped
d) Helping e) Answer not known
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Tom used the pain-killerto

a) Take care of his health.

b) Mend the crack on the sitting room floor.
c) Cure Becky Thatcher.

d) Help his aunt.

e) Answer not known

Identify the character or speaker of the following
lines:

‘What has that got to do that with it?’
b) Nadia c) Peter mother
d) Aunt Polly e) Answer not known

Harshini her mother in making rangoli in
the yard for last one hour.

a) Tom Sawyer

a) Ishelping b) Has helped
c) Hasbeen helping d)
e) Answer not known

Find out the figure of speech:

Helps

What happened inside that house?
a) Rhetorical question b)
c) Metaphor d)
e) Answer not known

In the poem “The House on EIm Street”.

Interogative sentence
Rhyme word

Itisavery ___place.

a) Serious b) Mysterious c) Abnormal
e) Answer not known
Samuel langhorne was

a) Humorist b) Publisher ' c) Lecturer
d) Allthe above e)Answer not known

Fill in the blanks using the verbs in the bracketsin the
form:

d) Curious

By next year, | inchennai for fifteen years.(live)
a) Willlive b) Would have lived
d) Lived e) Answer not known

Underline the verbs and udentify the tense forms:

c) Live

Were the milk men milking the cow?
a) Past continuous

b) Present continuous

c) Pastperfect continuous

d) Present perfect continous

e) Answer not known

What are the name of clemens work?
i) The Adventures of Tom Sawyer

ii) The Adventures of Huckleberry Finn
iii) The Adventures of Huckleberry Inn
iv) The Adventures of Becky Thatcher

a) landll b) landlll c) landlIV
d) lland IV e) Answer not known
What was the name of the cat?

a) Peter b) Tojo c) Tommy
d) Poko e) Answer not known

43.

44,

45.

46.

47.

48.

49.

50.

51.

In the story “The Cat and the Painkiller”.

Who was laid on the floor expiring with laughter?
a) Tom b) Harper c)
d) Huck e) Answer not known
Tom was disturbed because

Peter

a) Hedidn’tsleep well
b) His scores were low at school.

c) His friend Becky Thatcher had stopped coming to
school

d) He had picked up a fight with Becky Thatcher

e) Answer not known

Finally Aunt Polly said to Tom thathe

a) Need not take any more medicine.

b) Has to go to school regularly.

c) Should not meet any of his friends.

d) Must take medicines every day

e) Answer not known

In the poem “The House on Elm street”.

“I drive past the house almost every day

The house seems to be a bit brighter”

To whom does ‘I’ refer to?

a) The poetess  b) listener c) The young man
d) Achild e)Answer not known

Read the sentences carefully and fill in the blanks
with suitable tense from of the verbs given in
brackets:

We saw an elephant, while we _(go) on a trip

to Ooty.
a) Were going b) Gone c) Have gone
d) Hasgone e) Answer not known

Underline the verbs and udentify the tense forms:

| am working hard day and night .

a) Present continuous

b) Past continuous

c) Present perfect continuous

d) Past perfect continuous

e) Answer not known

The climate of thecity _ mild and pleasant most
of the time.

a) Isremaining b) Remains c) Wasremaining
d) Isremained e)Answer not known

Fill in the blank with the tense with the help of the
words given in the brackets:

All was dark again. Night (fall).
a) Fell b) Hadfallen c¢) Fall
d) Fallen e) Answer not known

Synonym of the underlined word is:

She was infatuated with patent medicines.
a) Shortlived passion  b) Addicted

c) Interested d) Bored

e) Answer not known
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52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

Where is the house located?

a) Onelm street b) Nearpoetess home
c) Inaroad d) Onburke street

e) Answer not known

Choose the correct statement:

i) Tom compelled Peter to have the pain-killer
ii) Tom asked Aunt Polly for pain-killer so often

iii) Tom was frightened by the strange behaviour of
Peter.

a) land Il
d) landll
Find out the figure of speech:
To bring peace we must war.
a) Paradox b)
c) Alliteration d)

e) Answer not known

b) Onlyll c) I, Iland Il
e) Answer not known

Metaphor
Rhetorical question

Identify the character or speaker of the following
lines:

‘I done it out of pity for him’.

a) Tom Sawyer b) Land lady c) Aunt Polly

d) Holmes e) Answer not known
Underline the verbs and udentify the tense forms:

| have beeniill for acouple of days____

a) Past perfect b) Prexsent perfect

c) Future perfect d) Simple past

e) Answer not known

Doyou___ theday we moved the piano upstairs?
a) Remember b) Remembered

c) Are remembering d) Had remembered

e) Answer not known

Fill in the blank with the tense with the help of the
words given in the brackets:

She had no umbrella with her; the weather
(seem) so fine just a few hours ago.

a) Hasseemed b) Seemed c) Had seemed
d) Is seeming e)Answer not known

Where was Clemens raised in?

a) Hannibal, Missouri b) Vermount, Brattleboro
c) Lowerburke, London d) Hannibal, London

e) Answer not known

Aunt was an experimenterin____

a) Trying new recipies

b) Designing fashionable frocks

c) Modern gardening techniques

d) Trying out new medicines

e) Answer not known

Tom used the pain-killer to

a) Take care of his health

b) Mend the crack on the sitting room floor

c) Cure Becky Thatcher

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

d) Help hisaunt
e) Answer not known

Heusually __ acup of coffee every day.

a) Drank b) Drinkb) c) Drinking

d) Drinks e) Answer not known

Which was provided the setting for Clemens novels?
a) Hannibal  b) Australia c) India

d) London e) Answer not known

Fill in the blank with the tense with the help of the

words given in the brackets:
She ran towards the big gap in the wall through which

she _(enter).

a) Enter b) Enters c) Had entered

d) Entered e) Answer not known

You will certainly ___ rewards for what you are
doing.

a) Get b) Had got c) Was getting
d) Be getting e) Answer not known
Sabithra___ herjob by tomorrow evening.

a) Willbe completing

b) Will complete

c) Willhave completed

d) Willhave been completing
e) Answer not known

Identify the character or speaker of the following
lines:

‘That is, | believe they do’.

a) Aunt Polly b) Tom Sawyer c¢) Mr. Hudson
d) Watson e) Answer not known

Tom wanted to become a

a) Player b) Lawyer c) Doctor

d) Pirate e) Answer not known

In the story “The Cat and the Painkiller”

“You better make sure” who referred this line?

a) Peter b) Tom c) Aunt

d) Sid e) Answer not known

Who opened peter’s mouth and poured down the
pain - killer?
a) Tom b) Aunt c) Sid
d) Joe Harper e) Answer not known
Tom became fed up and

a) Planned various relief ideas

b) Became a nuisance

c) Started bothering his aunt

d) Pretended to be fond of pain-killer

e) Answer not known

Akbar the king at the age of fifteen after
the sudden death of his father.

a) Wasbecoming b) Had become c) Became

d) Become e)Answer not known
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

Fill in the blank with the tense with the help of the
words given in the brackets:

When Usha looked out of the window dark clouds
______ (gather) over the mountains

a) Had gathered b) Was gathering
c) Were gathering d) Will gathered
e) Answer not known

In the poem “The House on EIm Street”.

“It sat alone” Here it refers.

a) House b) Tree c) Hill

d) Car e) Answer not known

The rain completely our day.

a) Spoilt b) Is spoiling c) alsspoilt

d) Wasspoilt e) Answer not known
Underline the verbs and udentify the tense forms:
The Moonrevolves aroundthe Earth__

a) Simple past b) Simple present

c) Simple future d) Present perfect

e) Answer not known

In the poem “The House on Elm street”.

Whenis the house filled with life?

a) Atday b) c) Atnight
e) Answer not known

At noon
d) Atevening

Identify the character or speaker of the following
lines:

He banged against furniture, upsetting flower-pots
and making general havoc.

a) Tom b)  Sid
d) Huck e)
Peter sprang a couple of yards in the air as

c) Peter
Answer not known

a) He had ateaspoon of the pain-killer
b) His tail was caught in the mouse trap
c) Tom threw him out of the window

d) Auntgave hima push

e) Answer not known

Finally Aunt Polly said to Tom thathe
a) Need not take any more medicine

b) Has to go to school regularly

c) Should not meet any of his friends

d) Must take medicines every day

e) Answer not known

In the poem “The House on Elm street”.

How often does the poetess see this house?
a) Everyday b) Onlyone day c) Two days
d) Alternative day e)Answer not known

Which are the four seasons mentioned in the poem
“The House on Elm street”?

a) Winter, Spring, Summer and Fall
b) Spring, Winter, Fall and Summer

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

c) Fall, Spring, Summer and Winter
d) Spring, Winter, Summer and Fall
e) Answer not known

Fill in the blanks using the verbs in the bracketsin the
form:

We not to the market, in case it rains.
(go)

a) Will, go b) Are, go c) Were, go
d) Aregone e)Answer not known

Underline the verbs and udentify the tense forms:
He received your messages last night___.

a) Past perfect b)
c) Simple past d)

Present tense
Present perfect
e) Answer not known

Who was fallen ill?
a) Becky Thatcher
d) Mark Twain

b) Aunt Polly c)Sid
e)Answer not known

One day he into a hotel in Ooty, a beautiful city
in Tamilnadu.
a) Booking b) Was booking  c)Booked

d) Had booked
Synonym of the underlined word is

in a frenzy of enjoyment.
a) Uncontrolled excitement b) Situation of pain
c) Confusion d) State of disorder

e)Answer not known

e) Answer not known
Aunt Polly tried all manners of remedieson __

a) Sid b) Peter c) Tom

d) Huck e) Answer not known
The criminal __the place before the police
could reach.

a) Was escaping
c) Isescaping

b) Had escaped

d) Willescape

e) Answer not known

Peter sprang a couple of yards in the air as
a) He had ateaspoon of the pain-killer

b) His tail was caught in the mouse trap
c) Tom threw him out of the window

d) Auntgave hima push

e) Answer not known

Fill in the blanks using the verbs in the bracketsin the
form:

If you listen carefully, you _ mypoint. (understand)
a) Understood b) Understand

c) Haveunderstood d) Willunderstand

e) Answer not known

Identify the speaker:

“If he’d had one she’d burnt him out herself !”

a) Polly b) Tom c) Becky

d) Sid e) Answer not known
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93.

94.

95.

96.

Sheis _ asong.
a) Sang b)
d) Has beensigning e)

Sung c) Singing
Answer not known
Finally Aunt Polly said to Tom that he

a) Need not take any more medicine

b) Has to go to school regularly

c) Should not meet any of his friends

d) Must take medicines every day

e) Answer not known

Fill in the blanks using the verbs in the brackets in the
form:

The new edition of this book out shortly. (come)
a) Come b) Came c) Willcome
d) Willbe cominge) Answer not known

What was sit beside the house?

a) Tree b)
e) Answer not known

River c) Dog

d) Huge plant

97.

98.

99.

Tom’stonewas___
a) Apprehensive b)
c) Feel positive d)

Stand for his rights
Excited
e) Answer not known

Fill in the blanks using the verbs in the brackets in the
form:

Keerthi his work by next week. (do)
a) Done b) Willdo c) Doing
d) Does e) Answer not known

What was Tom'’s reaction on seeing Peter’s strange
behaviour after consuming the pain-killer?

a) Frightened b) Anger «c) Laughter

d) Pity e) Answer not known

100.Find out the figure of speech:

Lights thicker on and off
a) Parador b) Simile c)

d) Alliteration e) Answer not known

Hyperbole

Aptitude (25)

101.Ashok deposited Rs.10,000 in a bank at the rate of

8% per annum. Find the simple interest for 5 years.
SNB&NS; 10,000 eBLIMEHW Sb600T(B8:ES 8% 6T160TD QL I 6iig8H60
R auiiBuied WHe5E OFLIGISTETTIT. 5 SpetTBsere0 SenLs&LD
5601l QUL IQEDUIS SIT6T0TS.

a) ¥2,000 b)I40,000 c) X 4,000 d) X5,000
e) Answer not known / eflenL a\sifwiefleosned

102.The principal amount triples itself at 8% per annum

over a certain time.Find the number of years.

Mk GOUILL goneng 8% ey 65556 685ame
DT B SH6r60 eLPEITM) LDLIRISMGLD 616018 SHT6Tors:.

a) 20years/Sysm@aer b) 25years/Sysm@aer
c) 30years/Sysm@asr d) 35 years/Sysm@asr

e) Answer not known / sflenL 615rfwsfisbemso

103.What will be the amount a man would get, if he

invests Rs. 10,000 at 9% per annum simple interest
for 3years? (inRs.)

AT eb. 10,000 &8 Spetonene 9% gevlleup slggded apsirm
OLETBSHEBEHS LPSEOB E\FUISTED HEU(HES HEDLEGLD 6)LDTES
6\FTema; eTeeuaTey? EHLIMUIE)

a) 12,500 b) 11,800 c) 12,700 d)12,000
e) Answer not known / eflen. a\siflwisfiebemen

2

104.The simple interest on 165 % Rs.68000 at per annum

for 9 months

2
OpTTBEHS 165 % efislb 68,000 8@ 9 NgGSHeTe S6vil
QUL IQUINTEDTE)
a) 1200 b)I8050 ) T8500 d) 1020

e) Answer not known / sflenL 615fwsfisbemso

105.

106.

107.

108.

The Simple interest on a certain sum for 3 years at
14% per annum is Rs.235.20. The sum is

R OsTemauls seufl el 3 AENBGHEHHS €hH.235.20
Gogyiib sur'ie 685D 14% eTevlled HHGE\SMewaUlei SLIL] 6T6dTLIS)
a) 3480 b) ¥ 560 c) I650 d) 3720

e) Answer not known / sflenL 615fwsfisbemso

Find the Simple Interest on Rs.5,000 at 10% per
annum for 5 years.

Siged ¢1. 5000 6@ 6lL'Ie 6555860 5 DB aHEDSHS S6vll el
eT6tT60T?

a) 33500 b)I5000 ) I2500 d) %2000
e) Answer not known / sflenL 615rfwsflsbemso

Find the simple interest for Rs.6,750 for 219 days at
10% per annum

€5.6,750 && 219 BIL&EDSS 10% aiL'ig 6551D Sevfl eul gemiLiss
SHIT600TS.

a) T405 b)T155 ) T450 d) T350

e) Answer not known / sflenL 61sfwsfisbemso

Find the principal that will yield a simple interest of
Rs. 300 in 3 years at 2% rate of interest per annum.
Spei1® euLigeligid 2% eligld 3 DpeTBEHS Hevl euL'le eb. 300
BEOLSHGLD 61601160 DFEMEV5 GHTEUOTS.

a) 5,000 b)¥3,000 c) 2,000 d) 1,000
e) Answer not known / sflenL 61srfwsfisbemso

109.A certain sum of money amounts to Rs. 8,880in 6

years and Rs. 7,920 in 4 years respectively. Find the
Principal

R GO L Hgeoneng 6 Spe@aesd ep. 8,880 Syseyb
4 etiBsafiso eb. 7,920 Sysaib MBS eeviled Haemevds
SHIT600TS.

a) ¥12,000 b)%6,880 c) T 6,000 d) T5,780
e) Answer not known / sflenL 61sfwsfisbemso
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110.Find the rate of interest per year of the following

111.

112.

113.

114.

115.

details. Principal Amount Rs.2,000, year = 2 and
simple interest Rs.120

e 2000 && 2 SpeTTB5:E 6l UL Ig eb. 120 erevfled SpeTTB5HS
auLlp 6figLD eTeu6u6TIEY ?

a) 3% b) 2% c) 1% d) 5%

e) Answer not known / sflenL 615flwsflsbemeo

The simple interest on a certain sum for 3 years at
14% per annum is Rs. 210. The sum is

Sp6TI( UL LR 14% eTetTaLD epedTpetaTB S6rfled &H O\ Temaullesr
alLlg 5. 210 eTevfled Jibs E\FMema:

a) 3480 b)T 600 «¢) T 500 d) 630

e) Answer not known / sflenL 61sflwsfisbemeo

A sum of money at simple interest amounts to Rs.815
in 3 years and to Rs .854 in 4years. The sum is

RH OFTms Sevllaiipuied 3 aBLESe oh.815 SHBMF.
I8y, 4 QUBLESED ¢75.854 SHpBMG| 6T6STMNED MBS E\STENS
6T6UEETTEY?

a) 650 b)T 690 ) 698 d) ¥700

e) Answer not known / sflenL 61sfwsfisbemeo

Simple interest for an amount is Rs.120 at 6% annum
for twoyears. Whatis the amount, if the at the same
rate of interest for 3 years?

BB OBMMEHE 6% G I6GES60 2 ILTTBSHEDHES Hevll auL'lp
@5.120 SBg. INHCH el 6i55P6d epeiim SperTBsHerTed
SMLEGLD 156N ET6UEU6TE)]

a) 1180 b) T 1500 ¢) 500 d) T 750
e) Answer not known / eflenL e\sifweflsosnen

1 1
A man invested gof his capital at 7%, 2 at 8% and

the remainder at 10%. If his annual income is Rs.561,
the capital is

1
B LDEAF6T HEUTF eLPEOSETIESE0 3 LIkienss 7% eul'igeisgSenib

% Uhieng 8% eullp eissBab, BepsTaTens 10% eiLlp
ei5580ID W&ESE OFIBDIMIT. SHeurs) eubL QUBLDMEILD e 561
61631160 Si6UTF| CLPEOSETILD

a) ¥5,400 b) ¥6,000 c) T6,600 d) 7,200
e) Answer not known / sflenL 615flwsfisbemeo

Rs. 800 amounts to Rs. 920 in 3 years at simple
interest. If the interest rate is increased by 3%, it
would amount to

5. 800 Speu18) Fevlleulipuied 3 QUBLESDS eh. 920 SpBms.
QIFL ULl 3% 2 WINSSLILILLTE HBS HMesH60 HewLHSID
6\FTEmS: eT6NEUETEY?

a) ¥1056 b) 1112 ) T1182 d) T992

e) Answer not known / sflenL 61sfwsflsbemeo

116.

117.

118.

119.

120.

121.

A certain sum of money amounts to Rs. 6372 in 3
years at 6% on simple interest. Find the principal.
M GHUALL agnmsawnerg 6% selally cdssdeo 3
ST BSH6rfle0 ob. 6,372 SpB| eTeriled DFMEVS: SHTETIMS.
a) ¥5000 b) ¥4,500 c) ¥5,400 d) ¥ 4,000
e) Answer not known / sflenL 61srfwsfisbemso

Ifa sum of amount double in 9 years then the rate of
interest perannum is

KB OHTNS O auBLMIG6Tld @rLliLndeing) eresfled, ulle
sfiésLpmentg|

) QE‘V b) 10£‘V ) 11£‘V d)lZi‘V
a 9 () 9 o C 9 () 9 (o}

e) Answer not known / sflenL 61srfwsfisbemso

The rates of simple interest in two banks A& Bare in
the ratio 5:4. A person wants to deposit his total
savings in two banks in such a way that he received
equal half yearly interest from both. He should
deposit the savings in banks A & B in the ratio.

A ppmibB SpBw Grewr@ eurudseflesr seuvfluligdsment
aIllpuineg) 5:4 etedim elBs5He0 2 6ol @HEUT Sevg
PRSOSTensmUWIL|LD Rran® aumidseaileyd Hewr eurbL
6UL'IQUITEDTE,| FLDLDITE S(HSSLDLIQUITES LNTl&E! WE656 QB miTT
eTevfled iUl (WPSHEOB O\FUIS E\STEMSITENS)| 61hS NdssH60
BmEGID

a) 5:2 b) c) 4:5 d) 5:4

e) Answer not known / sflenL 615fwsfisbemso

Mr. X borrowed Rs.5,000 on 7™ June 2006 and
returned it on 19" August 2006. Find the amount he
paid. If the interest is calculated at 7% per annum

2:5

8. X ettt 7.6.2006 Sishim @B 5000 g2 SLevMsLI
QubDM Siemg 19.8.2006 Iieim HHDU OFQISS6oTIT
Op6TTIRNE 7% 6HHLD CUL'IQ HETTSHBLLILILLTED HHeuT 61Ty S
61\FTEmS: eT6NEUETEY?

a) I5140 b) ¥5070 ) T5210 d) ¥5280
e) Answer not known / sflenL 61sfwsfisbemso

If a certain sum at a certain rate of simple interest
amounts to Rs.3810in 3 years and Rs.4890 in 7 years
then the sum and rate of interest are

RM OH5Tens Seofl aulipliLip ¢h.3810 & 3 aBLSSD
5. 48902 7 QU(BLESSILD QL' IQU |1 65T OWSTBEHBNF]. &6 LDHMILD
auLIp efigLomenTg

a) Rs. 3000, 3.5% b) Rs. 4000, 9%

c) Rs. 4000, 4.5% d) Rs. 3000, 9%

e) Answer not known / sflenL 615flwsfisbemso

Find the rate percent per annum when a principal of
Rs. 7,000 earns a Simple interest of Rs.1680 in 16
months
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SURESH’

IAS ABADEMY]
6.7 » 000 SiF&HS 16 DNSMISEHSHES eh.1, 680 Sevflaille
BOLESTEO ULl 65556058 SHevTBLIR
a) 18% b) 8% c) 12% d) 10%

e) Answer not known / sflenL 615rfwsfisbemso

122. At simpleinterest, a sum becomes 3 timesin 20 years.
Find the time, in which the sum will double at the
same rate of interest ?

Sevll eulipuTled (B E\5Tems: 20 QuBLES6L 3 IDLRIBTEDS) . HBH
OsTmaE B eiliuied eeaiaeTe &TesHe BTewr®

LDLIBISITELD
a) 8year/emLid b) 10 year/sugmLid
c) 12year/eumLib d) 14 year/eumLib

e) Answer not known / sflenL 61srfwsflsbemso

123.Find the principal on amount Rs. 11800 at 6% per
annum for 3 years being simple interest annually

epetTOTeBa6ied 6% Sevlleulie 6851 61LDMES E\3M6ms ¢rh. 11800
Aerflg@GID HFEmEOS: ST6HuTS

a) 8000 b) ¥9000 c) I10000 d) I 9500
e) Answer not known / sflenL 61srfwsfisbemso

124.The simple interest on a sum of money is 1/9 of the
principal and the number of years is equal to the rate

125.

percent per annum. The rate percent per annum is
B O\FHTEMHESHTE H6vll QUL IQUITENS] @(H GMILILILL SHTe0dHe0
D155 TenaHUTed 1/9 IDLMEISTS 2 _6Teng). GEYD QIIBL euLlp
elsonens) SneusdNG G eTelled, HGEGTEDSHSTE EUHL
auLlp 655LD eTeueuaTEy ?

a) 3 ) 3 935 d o

e) Answer not known / sflenL 61srfwsfisbemso

Two equal sums of money were lent at simple
1 1

interest at 11% p.a. for 35 years and 45 years

respectively. If the difference in interests for two
periods wasI412.50 then each sumis

1

R, OFTDSH JpeTenS 1% seflaly 1855860 3 3
SETBHEHHS OSTESHSHLILLLEI. HBFH Jlene)] O\FTens HES

1
setflaule eldzsdeo 4 7 ST BHEBHGSLD OSTBSHBLILILLE).
sefleupaefisr efigdwnsd I412.50 aefied AanGasILLL
61BIT6ms: 6T60TLIS)
a) ¥3,250 b) 3,500 c) 3,750 d) 4,250
e) Answer not known / sflenL 61sfwsfisbemso

General Studies (25)

126.Statement 1: Supreme Court opined that no reserva-
tion has to be given for promotions in Indira Sawhney
Case.

Statement 2: To nullify this Union Government en-
acted 77" and 85™ Constitutional Amendments
a) Statement1is correct
b) Statement 2 is correct
c) Both Statements are correct
d) Both Statements are incorrect
e) Answer not Known
sgapm 1: @BHIT Fapnefl apsde 2 sFBHbeDD LS
2_wiiefled BLRFHISEG FaLng) eTEVID HBHEDS (LPETEDEUSHII.
sapm 2: MLl LDES6T6N WSS T8 77618 LDHMILD
85615 5L 5B HSSMHISET JDLIGSSWSI.
a) &epm 1wLED & b) sabm 2 wrew &M
C) @uemED s d) Greu@b seum
e) ellenL agMwefleoemeo

127 What is the rank of Tamilnadu on Investments in Mi-
cro Small and Medium Enterprises (MSMEs) ?
&m An wHMID BESST OSTLH6D B 66DTHhISENh & ITeur
(MSMES) wseS:6s SrLmuseafled SUAPED assmemuTaus
8L ?
a) 1 b) 2 c 3 d 4
e) Answer not Known / sflenL 61srfwsfisbemeo

128.

129.

By which amendment the Tamil Nadu Reservation
Act of 1994 was included in the 9th Schedule of the

Constitution of India ?

BUPs RHEGS-GF FLLD 1994 abs Hrdlweoenibliy
Bw555860 epeod GhHw JArdweemwlng s
ReiLSTeIS| Sl Lelensuruileo CTaHLILILLE]?

a) 76" Amendment / 76 §mssid

b) 78" Amendment/ 78°¢ §mss1d

c) 77" Amendment / 77" §mssid

d) 79" Amendment / 79" §mssid

e) Answer not Known / sflenL 615flwsfisbemeo

Statement 1 : During British era reservation was wel-

comed by leaders like Annie Besant

Statement 2 : Meston Judgement (1919 - 1920) - Can-
celled the reservation which was given to Non-Brah-

mins in Legislative Assembilies.
a) Statement1iscorrect

b) Statement 2 is correct

c) Both statement are correct
d) None of these

e) Answer not Known

THOOTHUKUDI 99445 11344 | TIRUNELVELI 9894241422 | RAMANATHAPURAM 75503 52916 | MADURAI 98431 10566 m



130.

131.

132.

gapm 1: NfiLgee sTsHd BLRFHEE DietTerlleO\LF6TL
GUITEITIH SEMEVAUTEETTEL UTGEUNSLILILL &)

gapml 2 11919 - 1920 - WwevLed Sl FLLIDeTDRIS6 60
LAITLD T0TTE0EOMG6UITHEBES SUPMISLILIL® 6UbES SBLRGIHSL WL
1581 OFUISF)].

a) &epm 1wLED & b) sabm 2 wreEw M
C) @uemED & d) gseueoemeo

e) eflenL agMweileoemeo

Statement 1: Second Backward Class Commission was
framed by TamilNadu Governmentin 1982 under the
Chairmanship of B.P.Mandal.

Statement 2: V.P.Singh Government accept the
Mandal Commission recommendation and announced
27% for BC.

a) Statement1iscorrect

b) Statement 2 is correct

c) Both Statementis correct

d) Both Statement is wrong

e) Answer not Known

gapm 1 :1982 b Sper® L9.19.0ewrTL60  eTedrLI6N fl6dT
SemevenLbuiled @rermeug LADLIGSSIILLGLITT SphenemmLISEmNS
SIS T8 HWDSHSE).

saDm 2 :ewTLed penewrisSent Ufibgenrenw e mhm
6l.19.4m  sewevemwpuieonesr  igs  NHUGSSLILLL
QGLLIIBES 27 % SLRGIHSG uphiSuig).

a) &epm 1wLED & b) sabm 2wreEw s
C) @uemED s d) Queu@b seum

e) eflenL agMwesfleoemeo

During whose rule ‘Tamil’ was announced as official
language in TamilNadu

c) Karunanithi

a) Kamaraj b) Annadurai

d) MGR

sUlpssSet prdl owrPurss ‘S’
DL AGETE05H60 AHMeflSaLILLL G| ?

e) Answer not Known

WIHT (B 6L W

a) smonmesi b) Ssmeumgenr C) smewmBS
d) enb.2fl.Sy.

Assertion (A) : Coimbatore, Tiruppur and Erode re-

e) eflewL agfwefisbeneo

gion is called as The Textile Valley of TamilNadu

Reason (R) : They contribute major share to the State’s
economy through textiles.

a) Both (A)and (R) are true and (R) explains (A)

b) Both (A)and (R) are true but (R) does not explain
(A)

c) (A)istruebut (R)isfalse

d) (A)isfalse but (R)istrue

e) Answer not Known

133.

134.

gapml (A) : GamubLSETT, LT HID FEITE LDETIT 60D
SIOIDBTLIREN ‘OBEQILI LISTETSSTHS 6160 HEDPESSILBGEDS.
(R)

OUNBEMESTISSNS PSS Lusefllienu Sierflédeitment.

SITT600TLD 8ULGES OBFaTMESET [HTLIQ6

a) sadm WHMID sSMTewid @reur@L &M, Smyewrb,
gapmissten sflwimes eNeT&sLD Sp@LD.

b) oMl LDOMID STITEID @BIeGorBLD &Fifl DpevTmed STTevoTd
Fammletr Frflwine eflemaasd Heded

C) sabm &M SpeTTed HMIETUID SEum)

d) sebhm saum Speomed sMTewID Fif

e) eflenL egMweileoemeo

When was Tamilnadu Backward Commission estab-

lished by the state ?

SODHBIE NDLGSSILICLITT SpemEwTILILD 6115 Sh6tor® LomBed

DHTEFM6D O\SMLIRISLILILL G|

a) 1992 b) 1993 c) 1994 d)

e) Answer not Known / sflenL 61sfwsfisbemeo

1995

Which among the following statement is wrong ?

a) In 1990, the 1% quota for STs brought the total
reservation rate in TamilNadu to 69%

b)  The Supreme Court ruled in 1992 that the overall
amount of reservation should not exceed 50% as
per Article 16(4)

c) The Madras High Court ordered the state to
reduce it to 50% beginning in the Academic Year
1992 -1993

d) In 1992, the Government of TamilNadu enacted
a law for Backward caste, Scheduled caste and
Scheduled tribes

e) Answer not Known

LesTeu b eueTTEDMIET HEUMNENTS: FanMlenens GoTHESBSHSHLD.

a) 1990 &b Spewr® uLipuweder UPRIGRUIETEHSS
QUPRISLILILL 1% S 281656 SUDHTE BLEGIHSL 1en6sT
69% o8, P M558

b) 1992 @b Speor® 2 ssBdpeimid s 16 (@) Beir Lip
REOLNSS BLRGISSL DT 50% SMHGSD WS&TIDED
Bm5SIN SpsnerrTuilLg)

C) 6wrpmsv 2 wiiBSepid MBesS6T BLPsISEL et
50% SDHGSLD GeMDeus 1992 - 1993 b &6vefl Shetr®
WPEO GDDESH TIPS

d) 1992 &b WG SODBIG s LNHUGSSLILILGLT
a@Lleot, ULipuwedlen eu@Lifesi HMID UL ipuiedeor
LILP 1@ 1@ US| 60T (5 &> & IT 60T
BewmGaummluig.

e) eflenL egMwesileoemeo

FLLEMG  FLLIDETDSHe0

135.Whois the founder of TamilNadu Toilers Party ?

a) Manikavelu b)
c) N.G.Ranga d)

e) Answer not Known

Ramasamy
Kumari Anandhan
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SURESH’

ACADEMY}

1AS

136.
. Dr.Dharmambal 1.

. Annai Therasa

OO0 w >

>

C. m.66ugm.evoflwibenwwimt 3.

D. LméLi epsgiereoraus 4.

137

138

. Dr.Muthulakshmi

SUOIDBTG 2_emipLiment &L dufledt [BLieuesTT Wi ?
a) wnewllssGeusy b) @mmpemsl
C) eebr.gd.omisT d) @wf Syehge

e) ellenL agwesileoemeo

Match the Following (Schemes - Marriage Assistance)
Intercaste Marriage

2. Marriage of Orphan girls
E.V.R.Maniammaiyar 3. Widow remarriage

4. Daughter of poor widows

OUNBSSIS BLLMSET - SHLD6wT 2_56fls5S1 L LD)

. LIT&LIT. STLDmbLImeIT 1. seoliys SpLoswnbd
. SlelTEn6TT O\BITET 2. SusIaIDD CILICTTEm)SHETEN
SBLD6TOTLD

60&LDEILIETT LDMILDETOTLD

QIMIERLDW|DI 6WEHLDELIsToTETdH 65T

LD&6IT S([HLDETITLD
A B C D A B C D
a) 3 4 2 1 b) 2 3 1 4
c) 3 2 1 4 d 3 2 4 1

e) Answer not Known / sflenL 615rflwsfisbemeo

.The largest contribution to GSDP in Tamil Nadu de-

rives from which sector ?

a) agriculture  b) industry c) mining

d) services e) Answernot Known

SIDBILIgEN WMBeo 2 6THTLG 2 husSuied HHs LmIG
adlILg) 6ThS SIEPDWNGSLD ?

a) GeueTeETIeND FIEOH b) esmibsieen
C) &Om&sS HEOD d) uewlssT HewD

e) ellenL egMweilsoemen

.Total Reservation limit of Tamilnadu State Govern-

mentis ?
SIOUDBTE TSt B DEISHELIQEH 6\LDNGS FS6HID eTeueu6Tey?
a) 30 b) 59.5 c) 69 d) 20

e) Answer not Known / sflenL 615rflwsfisbemeo

139.Which among the following amendment extended the

reservation limit of SC and ST to the Parliament and
state legislative assemblies (upto 2030)?

HeiTeuld 6hF FLLSHHBSHSD LLRuIed Gerd LHMID
LD lQUIETTHESTEN LIMTTEHLDGDLD DHMID FLLFELISET60
8L e5158 L GEID USH SHan@seT Blpsss OFISs)
(2030 suemn)?

a) 101" Amendment/ 101°® §mssid

b) 102" Amendment / 102°% §mssid

c) 103" Amendment/ 103°® §mssid

d) 104" Amendment/ 104°® §mssid

e) Answer not Known / sflenL 61srflwsfisbemso

140.

“Madras is a pioneer state in Communal Representa-
tion. It has given representation to Backward Classes”
said by whom ?

a) V.PSingh b)
c) Kaka Kalalkar d)

e) Answer not Known

B.P.Mandal

Amba Sankar

“aelyar A1SBEssasShE ALITeL WeiTGemmuIns
8muuglLesr SibwmBeG NHuGssULLL aelihss
NS BSssI65ms cuprudsteng” eeors: GMILILILL et ?

a) .98 b) 19.19.petoL60
C) snem&G60sT d) Subun srusT

e) eflenL agMwesileoemeo

141.Who among the following was appointed as a mem-

142.

ber of economic advisory council to the chief minister
in TamilNadu. And also he served as a development
economist in Ranchi University in India ?

a) Jeyaranjan b) ~S.Narayan
c) Jean Dreze d) Aravind Subramanian

e) Answernot Known

1NetTeu@bLD BLITHeMl6d WT QRBEUT (P SHE0ENLDE & (F &8 M6
Qun@emmsTy BLevont Gpelleo @ 2 minfemymeum. Gogy|d
et gnehd @HSWL LoSmEsHSDES5H0 GULDUTLG
QLINEBETIHNT AHBEhINSaILD efenhideormT ?

a)  ewnehsesr b)
C) St pmeiverd) d)

e) eflenL agwesfleoemeo

6761, [HITTLLIETOT

Sirefibs sLNrievoflwiest

Choose the correct statement/s among the follow-

ing

1. The Scheme Makkalai thedi Maruthuvam was
launched in August 2021 at a cost of Rs. 758
crores.

2. TheSchemeaims to cover 1172 health subcentres
and 189 primary health centres across 50 univer-
sal health coverage blocks in the state.

b) 2only c) Both

e) Answer not Known

a) 1lonly

d) None

Weteupld sapmisener saelss sRlunerabenms

G5IMH6SB&HSLD.

1 Sps6evl 2021 6NN &SNS Bl LD(HSSIAID eTenILD
BLLID . 758 Games6iT 615606fl60 SlUhISLILILLS).

2. @5PULIbneng 1172 &SNS §|606wTBeneOUITISH6T DHMILD
189 SHIIbLI HSHTHNT [BEMEOWITLISHET 61607 LDMBESBH60 _6iTer
50 wpwiBemed SHEMSTT QILLITSMS 2 _6TeTmL&HS
GrenauITHMLD CHNSHSLD C\SHTETOTL ).

a) 1wbrEwb

b) 2wrEb C) @uswGL

d) egeuieoemeo €) eflenL OgMweileoemeo
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143.How many parties in Tamilnadu have been authorised

as a state party at present?

SHCLNE SUDHBTLIQEL eTES6m6N HiHEHEHSES LDMBev&sL fla6T
SHRISSTILD cupmISLILILB6Tang] ?

a) 2 b) 3 c) 4 d 5

e) Answer not Known / sflenL 61srflwsfisbemeo

144. Match the following

A.

145.

. Article 16(4) 2.

Article 46 1. Providing reservation in govern-

ment jobs for the backward classess

Reservation for members of the
State Legislature

Article 15(6) 3. Promoting the educational and
economic interests of the weaker

sections of the society.

. Article 332 4. Reservation for economically weak-
er sections
OLINh SIS
6flg 46 1 IHUESSULLLOITSEERSSETS T8
uetollufleo SLRGIHSEG 6UDMHIGS60
. eflB16(4) 2. 1B FLLD6TD 2 MILIN6TTEEH ST
89516506
. 61815@) 3. Fapss86d meleuenLbs Lfleflenm st seoefl
DOMID  OUMBETTSTT  [H606ITSEn6rT
2 &G 65560
. 6flf 332 4. QUNEBEMESNSBHED LNSHIBUI QuGLILN6oTT-
HEHEHSTEN BLRGIHSB
A B C D A B C D
a) 3 1 4 2 b) 4 3 1 2
c) 3 4 2 1 d 4 3 2 1

e) Answer not Known / eflenL eisifwefleosnen

The main source of irrigation in Tamil Nadu is
b) tank
e)  Answer not Known

a) river c) well

d) canals
BIOID&SH60 BTLINFETTSHBEI LPHBII SSMILDTES efleNbiGeus;)| 61517
a) Gpmisei

d) eemser

b) smeamisst ) Sevmser

e) eflewL agfwefisbeneo

146. Consider the following statement about the scheme

[llamthedi Kalvi and also choose the correct state-

ment/s

1. The Scheme was started by the state government
for the benefit to the students who studies be-
tween first and tenth standards.

2. Forthe successfulimplementation of this scheme
the government has allocated a budget of Rs.200
crores.

3. |Initially in the first phase, the scheme was imple-
mented in 12 districts of the states.

4. Under the scheme the salary of the volunteers
per month is provided by the government of
Rs.15000.

147.

BeoeoidBolp  Hevefls  SLFemsl ubmBlw  eiTalhDd

S &EDHMUS SHSS0 Osnen® Flunet sabhmns Giea)

QFUIWweLD.

1 ®eTmy WLOHMIWD USFTD eGLUY euedry LUl LD
LDTETUTEUITS6rMl60T [HEVEDIH&TSH BSSLLID DBed HTFT6D
QG MLRISLILILLG)].

2. @bss SLEMT OauDMaIDTSE NFWOLESHIUSDES
SITEFMMRISLD 7. 200 GHIMQEMLI LI G131 1960 Q8| SHSII6TENS).

3. PpsOsLLDIS @SS LID ImBeomiserletr 12 e L migerfled
O\FWEOLIBHSLILILLF).

4. @53 L5H6 S Feennieueviisefiesr bMg erHuild
€. 15000 HT&FT6D UPMRISLILIGSDS)-

a) 1,2 b) 2,3 c) 1,3,4 d) 1,23,4

e) Answer not Known / sflenL 61srflwsfisbemeo

When was the Justice Party changed its name as

“Dravida Kazhagam”?

BassLd ambg Speti® SomellLsspaHD” eT6u AILWIT DAHDLD

QFLWLILICL g ?

a) 1935 b) 1942 c) 1944 d) 1949

e) Answer not Known / eflenL a\sifwefleosnen

148.The Government of TamilNadu has expanded the res-

149.

ervation to 50% for women in Local Body election
since

BODE SNTE: 6ThS SpetT(B LPS6L EIIEWISHEHESTS D_6TemTL S5
Gaisedled BLRFIHELG lersflensst 50% s efifleuTssid
aFLg Slefisg eitong) ?

a) 1994 b) 2002 c) 2012 d)

e) Answer not Known / sflenL 615rfwsfisbemeo

2016

Which of the following committee of TamilNadu pro-
posed that a seperate group Most Backward Class
(MBC) be created ?

a) Sattanathan Committee

b) Alagappan Committee

c) J.A.Amba Sangar

d) Ma.Aa.Nedunjeliyan

e) Answer not Known

LesTeudbLb 6bS SIS G(peunestg s L NHLGSSILIEGLAT
(MBC) erenib @@ seludfelemer 2 manss Lfnbgens

QFUISE ?
a) ELLENSET GW b) Suwsliuer ew
c) J.A. Sibun st Gw d) MO OBEGEOEILET GSW

e) eflenL egMwesileoemeo

150.When was the BC Welfare Commission framed which

headed by Sattanathan was?

AHUESSILLGLIT BeETSHSH SbIMUBSL FLLBTS65
SEME0EMLDUTED 615G SHETT(B DHEWETILILD HeMDSHSLILILLF| ?
a) 1971 b) 1953 c) 1979 d) 1993
e) Answer not Known / sflenL 61sflwsfisbemeo
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